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M ETE Y ez
Celr sl AI2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
THE 1t 6,297,903 2,618,367 3,679,536
HEdd & aak2tel 2,417,263 2,232,164 185,099
2 A2 48,719 48,114 605
Hef & 2ok 48,719 48,114 605
201 fer= 3| 47,106 46,620 486
01 At 2|l 37,926 37,5% 330
O24A & BEAFE M=
10,609,000 10,609
OMIY - HNIZEZ 80t AtetE Z8 A MA
2,472,000& 2,472
O HAMEAY eloIMZRE EH S
2,385,000 2,385
O3lAAMSF dielt 7Y 6,000 *250H 1,500
OSHEEX 7= 300,000 300
OZUZARIE =Y
100,000 x32& 20! 6,000
OXEd B 08 20,0002 «2024* 122 4,800
OALHZIHBIAHAL M2
5,200,000 *1H 5,200
O=3 FHE g A&
22021+2, 500 0H*3 K 1,650
Ogzze(HAMMZZ20Y 018
1,210,000& 1,210
OgEsE =3 Hl8 600,000 321 1,800
2 352484l 9,180 9,024 156
ORFID 2l X2 3,528,000 3,528
OHAUE HESMAAE |2
471,000 123 5,652
202 04| 758 639 19
01 2LHA LI 758 639 119
OZ B ARE WF0Y|
252,400 3 758
203 g4l 405 405
03 A=A =] 405 405
Oge gex=d 450,000 x90% 405
307 elztol & 450 450
12 2I2HOI R & = H| 450 450
OZ4HHEARIE WSH| 150,000 <3 450
SHME 2] 763,888 933,275 169,387
SRMA AEIZAL € 2t 31,300 63,725 N32,425
201 fet=3| 31,300 63,725 A32,425
01 AtR2t2|HI 29,200 61,600 A32,400
OS=Mat 2|2 29,200
e R 18,000,000 18,000
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M ETE Y ez
Rl SFIMAE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- ZEE IS 6,400,000 6,400
2= 088 700,000 700
225 & IXNA MA 500,000 500
CIiis 4686 RS 3,600,000& 3,600
02 S5=24g4l 2,100 2,125 YAVZS)
OoR¥Es S 2,100,000& 2,100
TEEE SHSE 164,025 185,515 8,510
201 Let=23 | 164,025 185,515 8,510
2 s5=34l 164,025 185,515 8,510
Od=EAE= Moll=+ SH=bl
72,018,000& 72,018
OZx=tiat SH=/t 92,007,000 92,007
SEIEY 29 538,563 668,035 A129,472
201 Ler23 | 468,563 506,035 N37,472
01 At22t2lt] 1,820 2,890 21,070
O#AIXIE WSHI(S8=, FItz)
90,000& ~12& 1,080
OsSiteg Hdus 370,000 22 740
02 S3=gHl 466,743 503,145 A36,402
OXS A 6,662
SEX 222,500 »24CH 5,340
SEX 73,5002 504 368
- 2t=xt 32,0003 *20CH 640
- S 157,000 *2CH 314
ONsSiEE= 42,167
- SEX 531,000 »24CH 12,744
SER 500,000 504 2,500
StEXt 610,5002 *26H 15,873
S=Xt 650,000 *17CH 11,050
OdNERg=2 1,305
st=xt 201,250 +4CH 805
S=Xt 250,000 2CH 500
OXSxt =Al - #=clb| R,770
=1=0N; 700,000 »24CH 16,800
- SEx 1,334,000 #5CH 6.670
- et=xt 900, 0003 *26H 23,400
- St 2,700,000 = 17CH 45,900
OXtESAA = I 323,839
=R 1,800 3,300 £ ~48CH 285,120
CFER 1,700& 1,192 £ = 13CH 26,344
- & 3602 *2,000kwh 10CH 7,200
- CNG 1,1763%4,400n m"*1CH 5,175
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Rl SFIMAE 2 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
405 KHAHH SH 70,000 162,000 292,000
01 TR ESF SHI 70,000 162,000 292,000
OXr& WAl 70,000
SI=EH I==E 70,000,000 = 1CH 70,000
OIS X 0K 30,000 46,000 16,000
405 KHAHF SH] 30,000 46,000 16,000
01 ML ESFH S| 30,000 46,000 216,000
OISt =83
30,000,000 = 1CH 30,000
EAt2tel 1,297,871 1,002,439 295,432
EAMAIE HH| 247,650 33,000 214,650
401 Al HIZL 201 246,000 33,000 213,000
01 A=l 246,000 33,000 213,000
=2 8 =& 22,000,000& 22,000
ORIAFAN S DAL 82 HHIBA
90,000,000 90,000
Oz =4 &= 20,000,000& 20,000
O=2 ti2e XNs =& 14,000,000 14,000
o=z s8I uH 20,000,000 20,000
ON2Z2 MEHXl S S3EHUISA
80,000,000 80,000
405 XHAHE SHI 1,650 1,650
01 TR ESF SHI 1,650 1,650
Osl2E0D 7 550,000 *3CH 1,650
ARl - B 482,608 394,626 87,982
101 e124d| 79,053 73,332 5,721
04 JIZtN22 NS84+ 79,083 73,332 5,721
OFAHE A 22l (4Y) 79,053
2= (FEEE)
88,272 x4 B 28U +6E 59,319
AR 2R
11,0343 +4B *2A| 2H+ 122 «6E x150% 9,534
-HEY0S 300,000 4 1,200
- SAEE 300,000& 4 1,200
AHEEE 325,000 x4 H 62 7,800
201 Zet2& ] 296,631 233,637 62,994
01 AtR2telbl 83,184 58,424 24,760
OE2ES 720,000+ 128 8,640
Ost&a 2e| 32,276
SIESON 1,000,000& <122 12,000
SIIEEH 8,400 x360H = 128 3,629
SHIIME 8,400 5801+ 123 5,847
EECON| 30,0003 »308t A+ 12 10,800
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ootltgxts 500,000& 122 6,000
OFAL &9 =9 550,000 * 122 6,600
OR4FId S IV St 7,008
A SEFIE S HARIZ OOTV
374,000& 122 4,488
MBS 662 TEIZ BRAFL
210,000 x 122 2,520
OHAl SHZEMNE EXHE HX
3,300,000& 3,300
OJAd S 2el 720,000 720
OJIAHA SHE2RA IS
160, 00024 %22 320
OJIHa S2EY 34
8,000 2 130! 2,080
OFAEA 2e|(SRA2Z2N) 1,240
Igs 250,000 x4 1,000
st 60,0002 *4& 240
OFAL ZJ|HHEH B9
15,000,000 15,000
02 s3=gHl 213,447 175,213 38,234
OS¢3 34 5,000& x250E*22 2,500
OASKA 24 43,373,0002! 43,373
O=2 - 82 44 YHYI| RN P4
5,000,000& 5,000
OE Rl 89 2,000,000 2,000
OdE AMRA HIEEA 4,000,000& 4,000
OZAIDIA AFE 83,160
AL Hete ZADEA
600,000 *130 78,000
- THUAE 430,000« 12& 5,160
BN NERLRES 5,200,000& 5,200
O7EAL == &l 4,972,000 12] 4,972
Odote=kz 19,910,000& 19,910
ORoIBHIES s+ 5,280
23,203 S 440,000 128 5,280
O30 et Zeitg (s, al2t)
110,000 %27 |12 2,640
OFEA agotd2e| X 2|
48,0002 x32H*13] 144
OaY &8 82 2,000,000 22 4,000
Ogstatel] A2 264,000& 122 3,168
OPEA thZEH SX2+
10,000,000& 10,000
Odl2t AIA-0NZ & 3,000,000& 3,000
OJ1AHIEHl sXl2el 550,000 * 122 6,600
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
o2&, Higa d=2+I| ANl2dH|
8,500,000& 8,500
208 YD E | 450 450
03 A=A PR FA| 450 450
OFAt2te] gR=d 500,000 *90f% 450
301 EtE NS 106,474 87,207 19,267
0 ARSRFES 106,474 87,207 19,267
O3 ¥ A2l HREX 106,474
ss 1,250,000 6 « 12 90,000
B 7,000 622 x 12 11,088
- WEHI 3,40036H x22& x 122 5,386
ALGH HI2E AL Al 2 2t 567,613 542,813 24,800
201 et 3| 324,121 313,744 10,377
01 At2t2l] 43,013 36,073 6,940
OFA 2tel 83 750,000 * 122 9,000
Odltl &xt=z 16, 1103 +250H+ 123 4,833
OF=IN(FANE 5) g
120,000& * 122 1,440
O3J1¥38J1(8Ad) gz
22,9002~ 128 275
OxZael 89 9,500,000& 9,500
OSUAHIAAE B 500, 00021128 6.000
Oge 8 400,002 122 4,800
OR4Z & SUD42 LA
205,000 205
ON2EAL ALRA! OlAF B
5,000,000& 5,000
OJIAd SE22 A L=h|
160,000 160
OFEAZ A AIZHHEHHIADIHI(0tZ) TSI 1,800
HA=(ot=) 200,000 34 600
HAS(S=) 400,000 ~3 1,200
2 s5=34l 281,108 277,671 3,437
Od= =2+ 1,0172%10,683m 10,865
OJIAEHl 7Al2el € ds84
22,000,000& 22,000
Oo®J| 2= 8,000,000& x12& 96,000
OEADIA = 400,000 130 52,000
Odot= 2= 3,000,000& 6 18,000
OAag otd e 4,700,000& 4,700
O&D| otE e 1,742,4002 128 20,909
OsgJ| etd2tel 396,000 122 4,752
OCCTV, =Xt M, ELSHAIAE RAI2
330,411,800 3% 9,913
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OdLII(1710) M= L RXE=
18,500,000& 18,500
O&dguad| 2Hux & KA+
125,000 *69CH 8,625
OXIot=xtE & 2D|4d] A2
2,500,000& 2,500
OblaeED| R 24 2,000,000& 2,000
O283 4 3,900,000& 3,900
OQuUSFLRES 6,000,000& 6,000
OFXE SMe3 37,000& *12& 444
301 YEENS 35,492 29,069 6,423
10 Al =SRRIABAS 35,49 29,069 6,423
OFARHC] AIIE222(2Y) 35,49
== 1,250,000& «2Z =128 30,000
SA| 7,000 x2H«222 « 12 3,696
A=yl 3,400 x2H 22U x 128 1,796
307 2I2+01A 200,000 200,000
05 CIZtRAErZ 200,000 200,000
(@F=FEaS=2:] 50,000,000& 4= 2| 200,000
401 A& BIZ 200 8,000 8,000
01 Al&HI 8,000 8,000
OSAITIA Hif2 &M 5,000,000& 5,000
ON2EAL AR HIISAH S
3,000,000& 3,000
HYESAY 2 306,785 248,336 58,449
SAAIL el 276,616 218,336 58,280
201 L2 AY| 179,716 196,365 A 16,649
01 AtR22eltl 7,675 9,542 1,867
OBEBSAEH ABE 3,250
SHla SAESI| 3
100, 000 *3CH*90% 270
- SOAE ADXHH 1,490,000 23| 2,980
Osz=g ¢&3H 2=
2,985,000& *13] 2,985
OMHE BI0lqA gl 1,440
- 2lsA Al 700,000 & x27= 1,400
2T Al 40,0003 *1 & 40
02 324l 172,041 186,823 AN14,782
(OL=FE i 131,064
ABIES 23 80,400
-2 BN G} 1,500,000& = 12& 18,000
—|SDN 1,000,000& *12& 12,000
al= &Sk 4,200,000 12& 50,400
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el ddSMY 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
datg d83d k=
25,0002 %163 & * 122 4,800
- eTE 23 55,0002 +2CH« 122 1,320
- STHAITI(SS) 23
2,000,000& 128 24,000
HUTvedlg 250,000 122 3,000
DHre #HAES MHIA AIEE
660,000 * 12 7,920
- RAQIHYW(S3240ITH01) M 23
33,0002 x8H A+ 128 3,168
AL AIEE
2,2003+2002] &+ 123 5,280
(0|8 2= 98,0003 x 122 1,176
OSUAE FAl - 2= 40,977
JESUY SE2CIAAE
131,558,000 6% 7,8%
- QIR M3t AIAE 196,973,900 *3% 5,910
- IPE=EP| 218,000 *260CH*6% 3,401
- EAE S 300, 0002 *3CH*6% 54
- S22 YS5E 25,550,000 6% 1,533
ST QY AE waTY|
27,597,200 6% 1,656
e 2&E3Hl 65,131,640 6% 3,908
H2Z AL &S EHI 177,175,000 3% 5,316
Orl 2 S & 6,225,000 «6% 374
g=esl 15,340,000 3% 461
- A EES AL EH 38,990, 3332 *6% 2,340
=3 A E T 29,862,000 6% 1,792
N2Z At LEDE Abed 4=
85,837,400 *3% 2,576
519141 LEDRIXHEI40t
77,222, 4703 +5/ 1228 «3% 966
- RHHHFEX 13,263,000 6% 796
TFUHSAEZ 72 2,000,000 2,000
401 Al HIZ R 0HHI 70,000 70,000
01 AlZ8| 70,000 70,000
OsSald LA=EY &ZH| 2=
70,000,000 70,000
405 AHaHE = 26,900 21,97 4,929
01 It =S F=H 26,900 21,971 4,929
OSNSSAIAE At DA
20,000,000& * 14 20,000
otdg 2L2oUM W
6,000,000 1CH 6,000
OSala WA W 300,000 «3CH 900
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
2SS ASTHBAM LRAMEIA 1,000 1,000
201 er23 | 1,000 1,000
01 At2teltl 1,000 1,000
OArZEZ A HHl 1E
1,000,000& %12 1,000
SAUIHENEEZ 2Y 29,169 29,000 169
201 et 3| 29,169 29,000 169
02 S3=gHl 29,169 29,000 169
ORMEENEEZ 2 29,169
PMEENECZ 2 2
29,169,000 29,169
Y 2IZI (W2 380,640 386,203 25,563
=238l 67,760 66,301 1,459
JI23Hl 67,760 66,301 1,459
201 et 3| 18,080 16,621 1,459
01 At22t2l] 18,080 16,621 1,459
ORN2g=2HI 8,748,000& 8,748
OJlzgf=d Sl 9,332,000 9,332
202 04l 45,360 45,360
01 =LHAHI 45,360 45,360
OJl2g =80l
280,000 <27 &E+6& 45,360
203 =4l 4,320 4,320
04 PAE2EERFAH 4,320 4,320
OFN2gYRFLH| 4,800,000 *90% 4,320
el 2| 312,880 319,902 AT,022
el 24| 312,880 319,902 AT,022
101 @124H| 312,880 316,862 23,982
02 JIEtME = 139,791 139,331 460
OFAZA AIRILEHIIM(0F2)(3E) 108,967
Az 21,600,000& x3H 64,800
&g 40,0002 x3&* 122 1,440
S+A2E
1,800,000 *32 #1228/ 7+84%x*5% 3,11
- g 2L 175,000 x3H « 1227 /8 5,513
- el S| 50,0002 +3Z * 128 +7/8 1,575
- ZAHG A 140,000& x32+ 123 5,040
ZW22E
9,620 x3*B5A| 2+ 123 19,048
Ot R 3,0603x3E*31L 122 3,415
g S 76,9602 x3& * 154 3,464
- G2 A
1,800,000 *3Z +B4A| 2+x1/30% 1/7+86%+84% 1,561
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M #RSHAH| (W2
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odstagd AHIEMIIM(0I2)(19) 30,824
e 21,606,000& 1 21,606
-OESE 80,000& * 128 960
S+
1,801, 0003 * 122 +8/7+84%+5% 1,038
EST= L | 175,000 *122+7/8 1,838
-tHelg S| 50,0002 *12&+7/8 525
gESRU= R 140,000 ~ 128 1,680
ENiS | 9,620 *20Al1 2t 12 2,309
AP A
1,801,000 * 140AI2++1/30%1/7+86%+84% 868
03 SRH(RINHA) 222+ 173,089 163,605 9,484
OFAE A 22 173,089
28(9s3) 2,533,950 «4F 128 121,630
EERUES 1,920
-tEsg 40,0002 x4 * 122 1,920
Scl=d4dl 14,829
“HHZAHI 140,0002 ~4&+ 122 6,720
-GS0l 2,533, 9502 x4 & *40%*22] 8,109
Z2RE 29,652
-AIZRI 2R
14,1063 * 150%<2A] 2++2H 2492 21,075
PN Y= S
14,1062 +BA| 2H+4EH* 19 8,577
-da0E 1,264,440 x4 5,058
WeEsS(HR) 3,500,000 0 3,500,000
WA XIE 3,500,000 0 3,500,000
ENAEDISHES 3,500,000 0 3,500,000
@RJIsdEs 3,500,000 0 3,500,000
01 JIsdEsS 3,500,000 0 3,500,000
OFEAAEIIZ 8&23(0XI3)
3,500,000,000& 3,500,000




